WORD PROBLEMS
1.
Johnny was born on March 25, 1905.   If today is March 7, 2002, how old is 

Johnny?

A. 105

B. 97

C. 98

D. 95

E. NH

2.
There are forty-three candy jars on the counter in the store.  The cashier 

says there are 245 pieces of candy in each jar.  What is the total amount of 

candy in all the jars?

            A.  288

B. 10,535
C. 10,435
D. 9,535
E. NH

3.
Four cans of corn cost one dollar.  How much would 16 cans cost?

A. $4.00
B. $3.40
C. $8.00
D. $48.00
E. NH

4. 
A call to Miami, Florida is 24 cents per minute.  If Sandra spoke to her

grandmother for 17 minutes from New York, how much did it cost her?

A. $4.18
B. $4.08
C. $3.98
D. $.41

E. NH

5.
Bob sells car insurance to as many customers as he can in six months.


He receives a commission of $24 from each sale that he makes.  If P =


the number of customers, which expression shows how much money he


receives in commission in six months?


A. P x 6
B. P x $24
C. P x $24 X 6
D. P x 30
E. NH

6.
There are many animals in the stable.  There are 9 more cows than bulls.  

There are 7 fewer bulls than horses.  There are 25 horses.  How many cows are in the stable?

A. 27
     B. 16
C. 41
      D. 18
E. NH

7.
A chain of fast food restaurants received a shipment of 18,035 bags.  The 

manager distributed 12,978 to five of the eight restaurants.  How many bags 

were left?

8.
Alice Johnson was born November 29, 1908.  If today is 
December 4, 2001, how old is Alice Johnson?

9.
The price of Peter’s gift was three times as much as Henry’s.  Henry’s gift was $38.  How much was Peter’s gift?

A. $114
B. $76

C. $38

D. $150
E. NH

10.
There are 21,478 flyers to be distributed in the community.   Mary 

distributed 9,276 flyers and Alex distributed 11,487 flyers.  How

many flyers did Mary and Alex distributes altogether?


A. 42,242
B. 42,241
C. 20,753
D. 20,763
E. NH

11.
In 1999, 12 players in the National Baseball League hit a total of 4,608

balls.  How many balls did each player hit, if it was equally distributed?

A. 55,296
B. 4,620
C. 384

D. 386

E. NH

12.
In Albany, New York there was 7.678 inches accumulation of snow in one 

hour.   If the temperature continues on this same pattern, how many inches of snow will be accumulated in ten hours?

13.
David worked 25½ hours on his job last week.  He earns $14 dollars per 

hour.  How much money did David make last week on his job?

A. $357
B. $39.50
C. $350.50
D. $375
E. NH

14.       John’s father filled the car with 15 gallons of gasoline.  The gasoline cost 

$1.55 per gallon.  How much did it cost to fill the tank?

A. $22.50
B. $23.25
C. $15.55
D. $16.55
E. NH

15.
Project Motivation Math is having a math competition on 5/7/02.  Every 

[image: image1.wmf]time the light bulb blinks, 50 points is recorder for a team.  If the light bulb blinked 35 times during the math competition, how many points were recorded? 

A. 85

B. 1550
C. 1750
D. NH

16.
Xavier received $5.00 to buy his grandfather a gift.  He bought a gift for 

       
$3.43.  How much change did he get back?

[image: image8.wmf]
A. $2.07
B. $1.57
C. $1.93
D. $2.93
E. NH

17.
Henry can do 16 more jumping jacks than Marvin.  Marvin can do ¼ fewer 

[image: image3.wmf]jumping jacks than Bob.  Bob can do 40 jumping jacks.  How many jumping jacks can Henry do?  

A. 30

B. 46

C. 40

D. 56

E. NH  

18.
Annie had $48.50 in her checking account.  She deposited $35.75 and later 

withdrew $18.  How much money does she have now?

A. $84.25
B. $32.75
C. $66.25
D.   $5.25
E. NH

19.
There are 625 people at Golden Fire Elementary.  There are 100 people on 

the first floor and 225 people on the second floor.  How many people are not on the first  and second floors?

A. 525

B. 300

C. 325

D. 950

E. NH

20.
Jackie would like to sell 300 candy bars in 12 days.  In the first 4 days Jackie 

sold 60 candy bars.  If he sells the same number of candy bars on each of the remaining eight days, how many candy bars will he sell each day?

A. 24

B. 30

C. 22

D. 20

E. NH

21.
Look at the chart below and determine the cost of five dozen oranges.
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                                  1 dozen    $1.99                                     



          2 dozen    $2.75








          3 dozen    $3.99

                                  4 dozen    $4.75

                                  5 dozen       ?

                                                                       


A. $5.75
B. $5.99
C. $6.75
D. $6.99
E. NH

22.
Look at the chart below and determine the cost of nine apples.







  


                                                     

23.
Harry took 16 coins out of his piggy bank.  Two of the coins were quarters. 

Half of the coins were dimes, and one-fourth were nickels.  The remaining 

coins were pennies.  What is the value of all the coins Harry took out of his 

piggy bank? 

A. $1.52
B. $2.52
C. $1.56
D. .97

E. NH

24. 
Bret placed 16 coins into a box.  One-half of the coins are quarters, 1/4 of the

coins are dimes and the rest of the coins are nickels.  What is the total value

of the coins Bret has in the box?

25. 
Johnny’s basketball team won 5 games for every 4 games Jesse’s team won.  

If Johnny’s team won 20 games, how many games did Jesse’s team win?

A. 16

B. 18

C. 24

D. 12

E. NH

26.
Ann purchased 27 yards of material for 10 people in Alice’s wedding party.  2¼ yards of material is to be used for each person.  How many yards of material will she have left after she has used 2¼ yards for each individual?

27.  
Henry wanted to go to a concert.  The admission fee was $8.00.  His mother 


paid him 90 cents every time he took out the garbage.  What were the fewest

            number of times Henry had to take out the garbage to earn the admission   

            fee?


A.  8

B.  9


C.  11


D.  172
28.
Amos has 7 quarters, 3 nickels, and 1 dime.  How much money does Amos 


have in all?


A.  $7.30
B.  $11.00

C. $2.00

D.  $1.80

29.
Mr. Math and his son Will went fishing at Lake Hilton Creek.  Mr. Math’s 


canoe could only carry 550 pounds maximum.  Will wanted to bring his best 


friend David along.  Mr. Math weighs 202 pounds, Will weighs 176 pounds.  


What is the most amount David could weigh if he wanted to go fishing with


Mr. Math and Will?


A.  378 lbs.

B.  174 lbs.

C.  172 lbs.

D.  150 lbs.
E.  NH

30. Ms. Smith placed the numbers 8, 7, 9 and 4 on the chalkboard. Using each number only once what is the greatest possible 4-digit number she could use?


A.  8974 

B.  9789

C.  4789
D. 9847
E.  NH

Word Problem Answers

1.
Johnny was born on March 25, 1905.   If today is March 7, 2002, how old is 

Johnny?

A. 105

B. 97

C. 98

D. 95

E. NH

2.         There are forty-three candy jars on the counter in the store.  The cashier 

says there are 245 pieces of candy in each jar.  What is the total amount of 

candy in all the jars?      43 x 245 = 10,535

A.  288

B.  10,535

C.  10,435
D.  9,535

3.
Four cans of corn cost one dollar.  How much would 16 cans cost?

A. $4.00
B. $3.40
C. $8.00
D. $48.00
E. NH

4. 
A call to Miami, Florida is 24 cents per minute.  If Sandra spoke to her

grandmother for 17 minutes from New York, how much did it cost her?

A. $4.18
B. $4.08
C. $3.98
D. $.41

E. NH

5.
Bob sells car insurance to as many customers as he can in six months.


He receives a commission of $24 from each sale that he makes.  If P =


the number of customers, which expression shows how much money he


receives in commission in six months?


A. P x 6
B. P x $24
C. P x $24 X 6
D. P x 30
E. NH

6.
There are many animals in the stable.  There are 9 more cows than bulls. 

There are 7 fewer bulls than horses.  There are 25 horses.  How many cows are in the stable?

Step 1   Work backwards  25 – 7 = 18 bulls

Step 2    18 + 9 = 27 cows

A.  27

B.  16


C.  41

D.  18
7.     
A chain of fast food restaurants received a shipment of 18,035 bags.  The 

manager distributed 12,978 to five of the eight restaurants.  How many bags 

were left?        18,035



          – 12,978 

               Answer           5,057

8.
Alice Johnson was born November 29, 1908.  If today is


December 4, 2001, how old is Alice Johnson?

                        2001

                     – 1908

                            93 Alice age on November 29, 2000.  Therefore, if today 

                                 is December 4, 2001, Alice Johnson is 93 years old.

       
Answer:  93

9.
The price of Peter’s gift was three times as much as Henry’s.  Henry’s gift  

            was $38.  How much was Peter’s gift?

A.  $114
B.  $76


C.  $38


D.  $150

Henry’s gift price        $ 38         3 times Henry’s gift price = Peter’s gift price

                                      x   3

                                     $114

10.       There are 21,478 flyers to be distributed in the community.   Mary 

distributed 9,276 flyers and Alex distributed 11,487 flyers.  How

many flyers did Mary and Alex distributes altogether?


A.  42,242
B.  42,241

C.  20,753

D.  20,763
               11,487       Alex’s  Distribution    

            +   9,276       Mary’s Distribution 

               20,763             Answer   - Total flyers distributed is not needed.

11.       In 1999, 12 players in the National Baseball League hit a total of 4,608

 
balls.  How many balls did each player hit, if it was equally distributed?

A.  55,296

B.  4,620

C.  384


D.  386

        4608 ( 12 = 384      Check 384 X 12 = 4608

12.     
In Albany, New York there was 7.678 inches accumulation of snow in one 

hour.    If the temperature continues on this same pattern, how many inches of snow will be accumulated in ten hours?

             7.678   Inches of snow per hour


             x   10  

76.78 Inches of snow in 10 hours

     
Therefore, 76.78 inches of snow will accumulate in 10 hours
13.     
David worked 25 ½ hours on his job last week.  He earns $14 dollars per 

hour.  How much money did David make last week on his job?

Step 1 
Change 25 ½ to an improper fraction  = 51/2

Step 2
Multiply 51/2 x 14/1 = 357

A.  $357

B. $39.50

C.  $350.50

D.  $375

14.     John’s father filled the car with 15 gallons of gasoline.  The gasoline cost 

          $1.55 per gallon.  How much did it cost to fill the tank?


A.  $22.50

B.  $23.25

C.  $15.55

D.  $16.55

15.       Project Motivation Math is having a math competition on 5/7/02.  Every 

time the light bulb blinks, 50 points is recorder for a team.  If the light bulb blinked 35 times during the math competition, how many points were recorded? 


A.  85


B.  1550

C.  1750

D.  NH

16.  
Xavier received $5.00 to buy his grandfather a gift.  He bought a gift for 

       
$3.43.  How much change did he get back?








5.00 – 3.43 = 1.57
[image: image2.wmf]
A.  $2.07
B.  $1.57
C. $1.93
D.  $2.93
E.  NH

17.       Henry can do 16 more jumping jacks than Marvin.  Marvin can do ¼ fewer 

 jumping jacks than Bob.  Bob can do 40 jumping jacks.  How many jumping   

 jacks can Henry do?  

Step 1:  Work backwards  ¼ of 40 = 10


Step 2:  10 + 16 = 26


Therefore, the answer is E.
A.  30

     
B.  46

C.  40   

D.  56

E.  NH  

18.      Annie had $48.50 in her checking account.  She deposited $35.75 and later 

withdrew $18.  How much money does she have now?

A.  $84.25

B.  $32.75
C.  66.25

D.  5.25
E.  NH

19.
There are 625 people at Golden Fire Elementary.  There are 100 people on 

the first floor and 225 people on the second floor.  How many people are not on the first and second floors?

Step 1:   Add 100 + 225 = 325



Step 2:   625 – 325 = 300

A.  525


B.  300

C.  325


D.  950

E.  NH

20.
Jackie would like to sell 300 candy bars in 12 days.  In the first 4 days Jackie 

sold 60 candy bars.  If he sells the same number of candy bars on each of the remaining eight days, how many candy bars will he sell each day?

Step 1   300 – 60 = 240



Step 2   240 (8 =30

A.  24


B.  30

C.  22


D.  20

E.  NH

21.  
Look at the chart below and determine the cost of five dozen oranges.


                                                                      


                                  1 dozen    $1.99                                     



          2 dozen    $2.75








          3 dozen    $3.99

                                  4 dozen    $4.75

                                  5 dozen       ?

                                                                           


A.  $5.75

B.  $5.99

C.  $6.75

D.  $6.99

   Observe the pattern: 1 dz. = $1.99, 2 dz. = $2.75, 3 dz. = $3.99, 4 dz. = $4.75

   From 1 dz. to 2 dz. + $.76, from 2 dz. to 3 dz. + $1.24, from 3 dz. to 4 dz. = $.76

   Therefore, from 4 dz. to 5 dz.  is $4.75  + $1.24 = $5.99

22.      Look at the chart below and determine the cost of nine apples.

                  Step 1


 1.20 ( 3 = .60



  


                  Step 2                  

                9 x .60 = $5.40

23.
Harry took 16 coins out of his piggy bank.  Two of the coins were quarters. 

Half of the coins were dimes, and one-fourth were nickels.  The remaining 

coins were pennies.  What is the value of all the coins Harry took out of his 

piggy bank? 

Step 1    2 coins = 50 cents    

Step 2  ½ of 16 = 8 x.10 = 80 cents

Step 3    ¼ of 16 = 4 x .05 = 20 cents
Step 4  2 + 8 + 4 = 14    16 – 14 = 2

A.  $1.52

B.  $2.52

C.  $1.56
D.  .97

E.  NH

24.
Bret placed 16 coins into a box.  One-half of the coins are quarters, 1/4 of the

coins are dimes and the rest of the coins are nickels. What is the total value of 

the coins Bret has in the box?

Step  1   1/2 of 16 = 8 x .25 = 2.00


Step  2   1/4 of 16 = 4 x .10 =   .40


Step  3   16 – 12     = 4 x .05 = .20


Step  4   Add

        




          $2.60

Answer  $ 2.60
25.
Johnny’s basketball team won 5 games for every 4 games Jesse’s team won.  

If Johnny’s team won 20 games, how many games did Jesse’s team win?

 Step 1




Step 2

Johnny’s team   5  = 20

Divide the 20 by the 5 and multiply the

Jesse’s team       4       ?

result by 4.  The answer is 16
A.  16

B.  18

C.  24

D.  12
26.
Ann purchased 27 yards of material for 10 people in Alice’s wedding party.  2¼ yards of material is to be used for each person.  How many yards of material will she have left after she has used 2¼ yards for each individual?

Step 1:
  Multiply 2¼  X 10 = 22½ 

Step 2:
  27 minus 22½  = 4½ 

       
Answer:  4½ 

27.  
Henry wanted to go to a concert.  The admission fee was $8.00.  His mother 


paid him 90 cents  every time he took out the garbage.  What was the fewest

            number of times Henry had to take out the garbage to earn the admission   

            fee?






.90 cents





          x   9 times





        $8.10

Therefore, Henry will have to take the garbage out at lease 9 times to receive

the admission fee


A.  8

B.  9


C.  11


D.  172
28.
Amos has 7 quarters, 3 nickels, and 1 dime.  How much money does Amos 

have in all? 

7 x .25 = 1.75 + 3 x .05 = 15 + 1 x .10 = .10

Therefore, if you add these three totals, you will have $2.00

A.  $7.30
B.  $11.00

C.  $2.00

D.  $1.80

29.
Mr. Math and his son Will went fishing at Lake Hilton Creek.  Mr. Math’s 


canoe could only carry 550 pounds maximum.  Will wanted to bring his best 


friend David along.  Mr. Math weighs 202 pounds, Will weighs 176 pounds.  


What is the most amount David could weigh if he wanted to go fishing with


Mr. Math and Will?


Solution:   Add 176 + 202 = 378



      Now subtract 378 from 550 =  172


A.  378 lbs.
B.  174 lbs.

C.  172 lbs.

D.  150 lbs.

E.  NH

30.
Ms. Smith placed the numbers 8, 7, 9 and 4 on the chalkboard. Using each 

number only once what is the greatest possible 4-digit number she could use?

A. 8,974 
B. 9,789

C. 4,789
D. 9,847
E.  NH 

 
The greatest 4-digit number from the above numbers is 9874, which is not 

here.  Therefore, E would be the correct answer.

� EMBED MS_ClipArt_Gallery  ���





� EMBED MS_ClipArt_Gallery  ���











� EMBED MS_ClipArt_Gallery  ���





� EMBED MS_ClipArt_Gallery  ���














_1043826047

_1043471586

